*

Coordinate Polygons

I can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.
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o 1 2 3 4 5 6

1. (1,7) (5,1) (5,5) (1,5)

2. (1,3) (5,3) (5,5) (1,5)

3.(0,3) (3,6) (6,3) (3,0)

Polygon = Polygon = Polygon =
6 6 6
5 5 5
4 4 4
3 3 3
2 2 2
1 1 1

o 1 2 3 4 5 6

4. (2,6) (4,6) (4,0) (2,0)

Polygon =

5. (1,1) (6,5) (6,1)

Polygon =

6. (1,4) (3,5) (5,4) (4,2) (2,2)

Polygon =
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* Coordinate Polygons

I can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

6 6 6
5 5 5
4 4 4
3 3 3
2 2 2
1 1 1

0 1 2 3 4 5 6|0 1 2 3 4 5 6|0 1 2 3 4 5

7. (3,5) (5,3) (5,1) (1,1) (1,3) 8. (2,5) (4,5) (5,3) (&4,1) (2,1) (1,3) 9. (1,5) (2,3) (1,1) (5.1) (&,3) (5,5)

Polygon = Polygon = Polygon =
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Coordinate Polygons

I can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

10 10 10
9 9 9

8 8 8

7 7 7

6 6 6

5 5 5

4 4 4

3 3 3

2 2 2

1 1 1

O 123 4567 8910[|0 1234567 82910|[0 1234567 8910
1. (0,3) (3,6) (6,3) (3,0) 2. (3,2) (59) (7.2) 3. (0,3) (4,6) (10,0)
Polygon = Polygon = Polygon =

10 10 10

9 9 9

8 8 8

7 7 7

6 6 6

5 5 5

4 4 4

3 3 3

2 2 2

1 1 1

O 123 4567 8910(|0 1234567 82910|0 12345678910
4. (1,9) (7.9) (9) (3.1) 5. (8,8) (8,2) (4,4) (4,6) 6. (5,10) (8,7) (5,0) (2,7)
Polygon = Polygon = Polygon =
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Coordinate Polygons

I can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

10 10 10
9 9 9

8 8 8

7 7 7

6 6 6

5 5 5

4 4 4

3 3 3

2 2 2

1 1 1

O 123 4567 8910(|0 12 3 4567 8910(|[0 1234567 8910
7. (1,9) (1) (5.1) 8. (29) (57) (89) 9. (1,7) (4,10) (7,10) (10,7)

(10,5) (5,9) (8,2) (5,0) (2,2) (10,4) (7,7) (4.1) (1,4)

Polygon = Polygon = Polygon =
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Coordinate Polygons

I can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.
Extra Challenge: Use a ruler to measure the sides of each polygon to the nearest half cm and
calculate the perimeter of each polygon.

10 10 10
9 9 9

8 8 8

7 7 7

6 6 6

5 5 5

4 4 4

3 3 3

2 2 2

1 1 1

O 12 3 4567 8910||lo 1 234567 8910|[|l0 12340546 7 8 910
1. (1,1) (8,8) (8,1) 2. (3,2) (5,9) (7.2) 3. (0,3) (4,6) (10,0)
Polygon = Polygon = Polygon =

Perimeter = Perimeter = Perimeter =

10 10 10

9 9 9

8 8 8

7 7 7

6 6 6

5 5 5

4 4 4

3 3 3

2 2 2

1 1 1

O 1 2 3 4567 8910||l0o 1 23 45¢67 8910[|0 123405467 8 910
4. (19) (7,9) (9.1) (3,1) 5. (8,8) (8,2) (4,3) (4,6) 6. (5,10) (8,7) (5,0) (2,7)
Polygon = Polygon = Polygon =

Perimeter = Perimeter = Perimeter =
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Coordinate Polygons

I can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.
Extra Challenge: Use a ruler to measure the sides of each polygon to the nearest half cm and
calculate the perimeter of each polygon.

10 10 10

9 9 9

8 8 8

7 7 7

6 6 6

5 5 5

4 4 4

3 3 3

2 2 2

1 1 1

O 12 3 4567 8291/||0 12 3 45467 8910[|0 123456 7 8 910

7. (1,9) (1,1) (5,1) 8. (2,9) (5,7) (8,9) 9. (1,7) (4,10) (7,10) (10,7)
(10,5) (5,9) (8,2) (5,0) (2,2) (10,4) (7,1) (4,1) (1,4)

Polygon = Polygon = Polygon =

Perimeter = Perimeter = Perimeter =
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Coordinate Polygons Answers

| can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

6

5

4

3

2

1

6

5

4

3

2

1

6

5 N\

>

2 /

1

0o 1 2 3 4 5 6/|l0 1 2 3 4 5 6/|l0 1 2 3 4 5 ¢
1.(1,1)(51)(55)(1,5) 2.(1,3)(5,3)(5,5)(1,5) 3.(0,3)(3,6)(6,3) (3,0)
Polygon = Square Polygon = Rectangle Polygon = Square

6 6 6

5 5 5 N

4 4 /’ 4

3 3 // 3 /

2 2 // 2 \

1 1J 1

o 1 2 3 4 5 6|0 1 2 3 4 5 6|0 1 2 3 4 5 ¢

4.(2,6)(4,6)(4,0)(2,0)

Polygon = Rectangle

5.(1,1)(6,5) (6,1)
Right-Angled
Polygon = Triangle

6.(1,4)(3,5)(5,4)(4,2)(2,2)
Irreqular
Polygon = pentagon
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*

Coordinate Polygons Answers

| can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

o 1 2 3 4 5

6

6

L/

4

3

2

1

o 1 2 3 4 5

6

6

{EA
/

2

A
\

1

0] 1 2 3 4 5 6

7.(3,5)(5,3)(5,1) (1,1)(1,3)
Irregular
Polygon = pentagon

8.(2,5)(4,5)(5,3)(4,1)(2,1)(1,3)
Irreqular
Polygon = Hexagon

9.(1,5(2,3) (1,1)(5,1)(4,3)(5,5)
Irreqular
Polygon = Hexagon
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Coordinate Polygons Answers

| can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

Polygon = Parallelogram

10 10 10
9 9 9
8 8 8
7 7 [\ 7
6 6 ]/ \\ 6
5 V4
. . [\ L
3<§ 3 / \ 3‘<
2 2 2T~ ~—
1 \ 1 1 S~
O 1 2 3 45 6 7 8 91|10 1 2 3 45 6 7 8 910|]|0 1 2 3 4 5 6 7 8 910
1. (0,3)(3,6)(6,3)(3,0) 2. (3,2)(5,9)(7,2) 3. (0,3)(4,6)(10,0)
Isosceles Scalene
Polygon = Sguare Polygon = Triangle Polygon = Triangle
10 10 10
o HEEN . .
8 8 8
7 \ \ 7 7
6 \ \ 6 6
5 5 5 \\ //
4 4 4
5 \ \ 5 5 \ /
2 \ \ 2 2 \\ ,
1 1 1 \ /
HEEE V
O 1 2 3 45 6 7 8 910|110 1 2 3 45 6 7 8 910|]|0 1 2 3 4 5 6 7 8 910
4. (1,9(7,9(9,1)(3,1) 5. (8,8)(8,2)(4,4)(4,6) 6. (5,10)(8,7)(5,0)(2,7)

Polygon = Trapezium

Polygon = Kite
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Coordinate Polygons Answers

| can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.

Polygon = pentagon

Polygon = pexagon

NEEEN |\ o " / \l\
8 \ 8 N\ / 8

71 \\\ 7 \\/, 7 <
6 — \\ 6 6 —

5— > 5 51

4| — Vs 4 4 é
31— /,/ 3 3

2 — / 2 2

T TTIINA ‘

O 12 3 45 67 8 91((0 12 3 45 6 7 8 91|10 1 2 3 45 6 7 8 910
7. (1,9 (1,1)(5,1) 8. (2,9)(5,7)(8,9) 9. (1,7)(4,10)(7,10)(10,7)
(10,5)(5,9) (8,2)(5,0)(2,2) (10,4)(7,1)(4,1)(1,4)

Irregular Irregular Irregular

Polygon = gctagon
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Coordinate Polygons Answers

| can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.
Extra Challenge: Use a ruler to measure the sides of each polygon to the nearest half cm and calculate

the perimeter of each polygon.

Polygon = Parallelogram

Perimeter = )§ em

10 10 10
9 9 9
8 8 8
7 7 /\ 7
6 6 / \ 6
. s [\ ) e
4 4 / \ 4 //
r
3 3 / \ 3<\
2 2 2 \“\
T ! ! R
O 1 2 3 45 6 7 8 91|10 1 2 3 45 6 7 8 910|]|0 1 2 3 4 5 6 7 8 910
1. (1,1)(8,8)(8,1) 2. (3,2)(5,9)(7,2) 3. (0,3)(4,6)(10,0)
ool _ Right-angled Isosceles Scalene
PN = Triangle Polygon = ryjangle Polygon = rriangle
Perimeter=)2.8 em Perimeter= )0 em Perimeter= )2.8 em
10 10 10
9 HERER 9 9 /N
8 \ \ 8 8
7 \ \ 7 -~ 7
6 \ \ 6 6
\
s\ \ . . \ /
) 4
. \ \ . . \ /
5 \ \ 5 5 \ /
2 \ \ 2 2 \\ l,
, \ ] ] 1 \ /
HEEEE V
O 1 2 3 45 6 7 8 91|10 1 2 3 45 6 7 8 910|]|0 1 2 3 4 5 6 7 8 910
4, (1,9(7,9(9,1)(3,1) 5. (8,8)(8,2)(4,3) (4,6) 6. (5,10)(8,7)(5,0)(2,7)

Polygon = Trapezium

Perimeter= ¢ ¢w

Polygon = Kite

Perimeter= 14 em
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Coordinate Polygons Answers

| can plot coordinates to draw polygons.

Plot the given co-ordinates on the grid and join them up to identify the polygon.
Extra Challenge: Use a ruler to measure the sides of each polygon to the nearest half cm and calculate

the perimeter of each polygon.

Perimeter= )S em

Perimeter= 1§ em

10 | | | | 10 10

9 9 9

81— 8 \ J/ 8

7 AN 7 \\/, 7

61— N 6 61—

51— > 5 51—

4 — // 4 4 —

3 p 3 3 /
2 / 2 2

1 / 1 S A~ 1

| ] ] NA [ 1] ]

O 12 3 4567 8 9100 12 3 45 6 7 8 91|(0 1 2 3 45 6 7 8 910
7. (1,901,D(5,1) 8. (2,9)(5,7)(8,9) 9. (1,7)(4,10)(7,10)(10,7)
(10,5)(5,9) (8,2)(5,0)(2,2) (10,4)(7,1)(4,1)(1,4)

_ Irregular _ Irregular _Irregular

Polygon = pentagon PolygoN = pexagon Polygon = petagon

Perimeter= )6 e¢wm
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